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General Instructions :

1. The question paper consists of four Sections - A, B, C and D. Section - A consists
of 8 questions of 1 mark each; Section-B consists of 6 questions of 2 marks each:;
Section-C consists of 10 questions of 3 marks each and Section-D consists of 10 questions
of 4 marks each. Question No. 1 to 8 are Multiple Choice Questions where you are to
select only one correct option out of four given options.

2. All questions are compulsory.
3. In questions on construction, the drawing should be neat and exactly as per the given
measurements. Use ruler and compass only.

4. There is no overall choice. However, internal choices have been given in some questions.
am= e
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Section - 'A' (WS-‘31")
Question number 1 to 8 carry 1 mark each.
T T | W 8 qh U W9 HT 1 3k T

1. Which of the following is the square of an even number? 1
= o @ %7 g9 gen &1 o @2
(@ 529 (b) 250 (c) 1764 (d) 2809
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The selling price of an article is 6 of its cost price. The gain percent is-

el or%q 1 forshar e 38 %I IoT A ¢ g1 oy wfaee © -
(@ 20% (b) 25% (c) 30% (d) 120%

List price of a pair of shoes is 450. If Anil paid 45 as VAT for it, then the
rate of VAT is
T SIS Al w1 AfRd god 450 T 21 AR AT 3R o 45 T ST oA

FI ¢ @ 9 H R YavE T -
(@) 20% b) 10% © 15% (d) 30%

(x+5)(x-3) is equal to :

(c+5)(x-3) TR € :
@ xX+5x-15 (b)) x¥®-3x-15 (¢) X+2x+15 (d X +2x-15

If p and q are two lines and 'r’ is a transversal, then the pair of angles /4

and /8, is called a pair 1 ﬁ"\ld
(@) Alternate interior angles s 2 3 i
(b) Alternate exterior angles 5

(c) Corresponding angles
(d) Co-interior angles

g p 3R g < W ¢ AR r fadew @ €, @ /4 R /8 UH W,
FEA T~

(a) TehIdX 37d: iU (b) TWhHIAX ST hIT]

(c) Hd 0T (d) EB-31d: I

>

A
o
‘§

The ordinate of a point is its distance from the
(@) origin (b) vy - axis (c) x-axis (d) none

frdt fog 1 wife (y-fadenr) , STkt food <t &t 8, 9% 2:

(@ T fag (b) y- & (€ x-34 (d) g TE

The Co-ordinates of a point on y-axis at a distance of 5 units from x-axis
is

y-o1e W T ww fog, foost x99 g8 5 i €, % Fduna @ -

@ (0, 5) (b) (5, 0) (0 (5,9 d (2,5)

When a die is thrown, the probability of getting a composite number is:-

e Teh UMl el ST © Al Teh Wisd H&A & AH 1 YRl 8T ¢

Fi § 1
() = (b) (c) B (d) =

I
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10.

11.

12.

13.

Section - 'B' (@S-‘A’)
Question numbers 9 to 14 carry 2 marks each.

T G& 9 9§ 14 TF TAF T 2 3F H

Simplify (T HISC) - J1.69x1.96

OR ( 319aT)

Find the least natural number by which 396 must be multiplied so that it
becomes a perfect square.

I =AqH JIhd & A HI Y 396 1 0N HEH T I8 Teh Y01 a1 a1
ST

Find the value of : (AF J1@ HiWY) : 64 - 125 + Y343

What is the smallest number by which 1600 must be divided so that the
quotient is a perfect cube?

9T DRI 9 BRI G F1 B TEH 1600 H G S W TH U1 TH U @2

t
In the given figure, 1| m. %4553
If 21=55", find £2, £3 and 74. l < »
G T el , Lim 21 Ak 21550 /4
-+ g

T 22, 23 AR z4 ¥@ HSU

//4

Write the coordinates |
of the vertices of the i
&5
following figure : it - =
7 opfa & o & [0
EEHICTGITE 4 /
]
2 .
1 A B
X
0 gl
|.-§-1513?39‘n
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14.

15.

16.

17.
18.

19.

A bag contains 3 red and 2 blue marbles. A marble is drawn at random.
What is the probability of drawing a blue marble?

T I | 3 A1 3R 2 A T & FY () §1 Th HeA bl AgesAT A T
Bl T i 9 H G I WFRAT 1 2?

Section - 'C' (We-9')
Question numbers 15 to 24 carry 3 marks each.
T W& 15 ¥ 24 TF TAF WA & 3 37F T
Find the greatest four digits number, which is a perfect square.

TR Sl i I8 g 9 TS G d1d Hite, Afh Tw qof a1 7|

What is that decimal number which when multiplied by itself gives
227.798649?

o e WA 9 ®, 59 wWE W YO i W 227.798649 W Bl €2

Evaluate (AF 1A &iNT) :- §-3775000

Three numbers are in the ratio 1 : 2 : 3. The sum of their cubes is 7776.

Find the numbers.
A Hemsti § 1 : 2 : 3 1 UM ©, 91 T T4 1 SIg 7776 B @AW A6
ity

In a camp, there is enough provision for 500 students for 30 days. If 100
more students join the camp, for how many days will the provision last

now?
e fofen § 500 famnfefai & fow 30 fe o1 sxaeen 21 afE 5o 100 fomneff &k
¢ SQ, a1 I8 e fhad fooi 9 =eh?

OR ( 319aT)

A shopkeeper has enough money to buy 40 books, each costing I125.
How many books he can buy with that money if he gets a discount of 25
on each book?

Teh QR & U 125 T9F HI0d 1 40 T @iied & fae vaia g 2
IS Y THIh W 3 25 T i Te il @ I ¥R H a8 fhadt gwae
Tiie Hehall T
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20. By selling 42 oranges, a person loses a sum equal to the selling price of 8

21.

22.

23.

oranges. Find the loss percent.

42 G d=F W, Tk SAEH i 8 Fall o foshd ged & aueR g1
EIGKEIRISECAIE I

Factorise (@S HA hINT) : 9x2y — 24x1? — 161°

In the figure, show that : < 1
() AB|CD
(i) CD|EF

Bt Bl B

(iii) AB| EF
Justify your answer.

EURLEIE 26 B Bt L S

20°

i ABI|CD (i) CD|EF (i) AB| EF

ST hi GAIud hifsiq|

OR ( 3794T)
In the given figure, in AABC, o A
AD is an altitude show that .
() BP|AD =
(ii) CQIlAD 50°
(iii) BP||CQ . Give reasons.
few 7w o3 |, AABCH AD ] e
. B D
st 21 fag & o
(i) BP || AD
i) CQIlAD

(iii) BP|CQ &Il 4t ¥aru|

vyQ

Plot the points A(2, 3), B(5, 3), C(5, 5) and D(2, 5) on graph paper. Connect
the points in that order so as to get a closed figure ABCD. What type of

figure do you get?

fagant A2, 3), B(5, 3), C(5, 5) 3R D(2, 5) & el T <WMEY| 3 fagat =i

T %9 9 Wig fF ABCD & s ofapfa faet S99 fha e
fiyerdt 82
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24. A card is drawn at random from a pack of 52 cards. Find the probability
that the Card drawn is :

(i ajack (ii) a heart (iii) a black king
T 52 U6 o Ushe W W Uk U AGSIAT g1 TN B | WAkl 6 Hifeg R ae
o R

() T M (i) Th 9 (iii) Teh <hTcll ST
OR ( 3T¥aT)

The daily wages (in Rs.) of 15 workers in a factory are the following :

300, 250, 200, 250, 200, 250, 200, 150,

350, 200, 150, 300, 150, 200, 250

Prepare a frequency distribution table and give answers to the
following.

(i) What is the range of the wages (in Rs.)?

(i) How many workers are gettign Rs. 3007

(iii) How many workers are getting the maximum wages?

T FREH & 15 g &1 3w 9o (B H) 79 TR 9 R i
300, 250, 200, 250, 200, 250, 200, 150,

350, 200, 150, 300, 150, 200, 250

Tk RN IRl aART, do1 99 g9 % IW T

(i) o= 1 (T H) 9RE 7 i)

(i) fohae AT 1 300 TIF W B €72

(iii ) forae Aoy w1 erfershe o=l o6t Wit @it @2

Section - 'D' (@s-T')
Question numbers 25 to 34 carry 4 marks each.
T WA 25 W 34 T UH U &b 4 I T
25. Find the square root of 3, correct up to three places of decimal.
3 1 YA YT o T TIHl T Y A1d hitaT|

26. Gautam Starts his journey to a certain place by car at 9 a.m. and reaches
the destination at 1 p.m. by driving at a speed of 30 km/hr; By how much
should he increase the speed so that he can reach the destination by
12 noon?

TMaH STa A fhdt T | gae 9 oo Y il @ A 98 30 fhame gfa
T2l 1 T Y HR T €l 1 Taed W Ued | a9 Ygedl ¢ 39 T8 W

fhaet agMT =fgT, difeh Tided deF o8 9eL 12 o9 989 Tl
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27.

28.

29.

30.
31.

32.

A train 360m long is running at a speed of 45 km/hr. What time will it
take to cross a 140m long bridge?

Teh Teet fSreent oralé 360 Hie €, 45 fehaiiiet id =ver &1 gae =l 9 =
W@l 21 78 MLl 140 WX @& YA IR FH & forw feman wwa @i?

A man purchases two fans for ¥2160. By selling one fan at a profit of 15%
and the other at a loss of 9% he neither gains nor loses in the whole
transaction. Find the cost price of each fan.

Teh STEHT 3 96 2160 98 § ©HiEd 81 Tk G@ &1 o= T 3Y 15 Yiqea oe
AT T TR 9 v shi B Bl ® qe1 R e 1 W A U o Bl € AR A
g T Y& 989 H1 I Jod F1d Hife|

OR ( 379dT)

Ramesh marks his goods at 40% above the cost price but allows a discount
of 5% for cash payment to his customers. What actual profit does he make,
if he receives ¥1,064 after allowing the discount?

WY 30 AR W 3AfeRd Ged 9 Ged W 40 Wfawr eiferr Siferd siar @ oiferd
SUNIERT hi TS PIAH HH W 5 Favd w1 g2 a1 2 AR B2 7 W o 39
1064 TTF JI B €, 9 38 IRdfaed oy fRaA e 22

Rakhi visits a departmetnal store and purchases the following
articles :

() One rain coat of 300, VAT @10%.

(ii) One pair of shoes of 3460, VAT @9%.

(iii) Clothes of 800, VAT @1%.

Calculate the total amount of the bill.

T T fafay faea o W S € e frefafe asqd eled € -

@) 300 T 1 Teh AT i, T5E W o &1 L 10% @

(i) 460 TW % Tk SISl Id, 92 HI W 9% ©

(ii) 800 ¥W & FHUS, oI H L 1% ©

[EGEEIRETIRUNERIGRCAIS I

. A | c |
Factorise (T[OFES hINQ) a2+2rb2+ . ah - he+eca

5 §] ]

If 5x-2y=7 and xy = 2, find the value of (5x+l2y)2
MG 5x-2y=7 3N xy = 2 8 A (5x+2y)? HT TH 0 HifSQ|

OR ( 319aT)

P
-

Factorise (UHEE HIfST) : (G-’-ng -144mn + 81n* )-25p*

Draw a line segment of length 7 cm and divide it into 5 equal parts.

T 7 WAL * [WEe Eifgu $ X 39 5 auer qrl o faeiad st

VIII-MATHEMATICS (7)



33. Ram, a sales manager, earns profit of ¥4,00,000 in the month of July. He
decides to distribute this amount for different purposes as depicted in
given pie-chart :

Give answers to the following questions with the help of pie-chart -

(i) Find the money he fixed for purchasing car.

(ii) Find the amount he gave for welfare organisation.

(iii) Find the amount he paid for income tax.

(iv) Paying income tax and donating money for welfare organisation show
which values in him?

M T Tk Teerh € S S[eE A1E | 4,00,000 T4 1 A9 HAC 2| g8 AT
o 1 38 A i fafa= sewal 1 ufd 3 fawifsa e @ Stan & g9 fe |
Tgitan e 21 g9 o qget e we & S ST -

() &% U1 Ad HIC S 38 SR $l @i & fou fuifa + 2

(i) o€ TR Ta HITY S FHeaor e gq <[ & 2

(i) o€ TRT 1 B S ST AR B B H 37 hl B?

(iv) STRIRY 31T SHTA AU Hodul HE &l IA &N 3G fohd ol ol

Tgrlar 272
60%
Amount to
purchase car
(FR & fau &)

30% | 10%
Donation Income tax
to welfare ( 3TFEY)

organisation
(HIToT FET &
e =) Fig. of Q. 33

34. There are 40 students in a class. Their ages are as follows. Construct a
frequency distribution table with class intervals 5-10, 10-15 etc. Draw

histogram also.

13 21 6 5 8 17 14 13 6 6 7 8 15 16
9 10 10 9 7 8 15 14 12 11 9 7 6 8
6 10 13 17 17 16 12 12 9 8 13 14

Tk el H 40 faenefl 81 ST o1y A B1 o TS 5-10, 10-15 3SR

Teh IERAl 9ROl S9EY 921 A= o o S|

13 21 6 5 8 17 14 13 6 6 7 8 15 16
9 10 10 9 7 8 15 14 12 11 9 7 6 8
6 10 13 17 17 16 12 12 9 8 13 14
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